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1. Expand JUST using summation notation first.
2. Pull out the first few terms so that when we divide "

by x5, id dividing b! . Cad

y x5, we avoid dividing by zero bx)g (_7X)S © L ')V\ (_{7&)

o\\/\_lt—bﬁ\: TR — T —+ ‘é_ - - 2?0 an+)

R u o1 > an+|
(1xy , O ) N (A R S b
Txees 1 = I (V= " * H ) = 7%‘};3'5 o) S;n @1
¥ —
>
20+ an+| ant) ant)
> ) 2 3R L e VA
Fan' (7% — TIxcos (T = }_L—')V‘( oy e — =1
e an+ ] n<o @) n=o I ntl La.h)'l
=0 _ " N+ | J____
/\ A ‘LL‘"@@ antt T (]
A N=>
( |
— 3 L 1 oD anx |, |
7 aup tl | : - _— _
)(( ’ b'> (")U"(\ (3 a) 4= LC") U% (3-\'\“ )
133 (L n=3
K (2) =7 P
n=>0 w= | n= 2 ot bxo\/\ Cev éﬂ"]’



	Untitled
	Untitled


